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(B+1)(2+1)(1+1) = 24 74

-120, 4-90, 5-72, 6-60

12-30, 15-24, 18-20

5=10)

2 00| 37§ E=Ct (2000 &)
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L MEL;F £7HL Qols Bt gl A9
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. SUF(CD); 3822 =0 Je U= (M7 Hall ™ UCH ( Common Divisor )

. F|t32=(GCD) ; 34+Z 7t2t 2 A ( Greatest Common Divisor )

24 9| eFx;1,2,3,4,6,8,12,24
362 2f+~;1,2,3,4,6,9,12,18, 36
2421362 82f¢+;1,2,3,4,6,12

4 2} 36 9| F[chzef; 12

2 | 24 36
2 | 12 18
3 | 6 9
| 2 3
. Z2Hi$= (CM) ; 2E2=2 E0{ =t (E9i0o] h) ( Common Multiple )

. Z|AZEE (LCM) ; 2= 713 22 A ( Least/Lowest Common Multiple )



24 o| H{==; 24, 48, 72, 96, 120, 144, 168, 192, 216, ....

36 2| Hi=; 36,

24 2} 36 2| ZEu{=;

72, 108, 144, 180, 216, ..

72, 144, 216, ...

24 2} 36 2| F|AFZHH; 72

- BATH) S 2 Tote o

2 | 24 36

2 | 12 18

3 1 6 9
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Z| AFH = = 2%2%3*2*3 = 72
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2 | 9
3 1 9
2 | 3
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24 32
12 16
6 8
2 8
1 4
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1. of2io M &2t hd - E 212F Z2F EMIR.
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1) 2%2*2%3*3*5 2) 2¥2*X3KS*EREXT*T

. LIEE 82 A27
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1) 2+2+2 =273

3) 2+2+2+2+3*3*3 =273 + 373

4.otE =2 22U ISHSMR
1) 20 2) 36 3) 60

5. CIS0M 48 2| 2Q+E BE5F 1EML.

1) 2 2) 3 3)6 4) 12

50

2) 2¥2¥2*3*3 =273 + 372

4) 288

5) 24

4) 7¥7*7 =377

5) 960
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